Short Answers    Chapter 2 Linear Motion

Review Questions – 25

1.
Measured in a reference frame—usually earth’s surface

2.
Speed is the rate at which distance covered changes

3.
2 km/hr

4.
Speed at an instance vs a time duration

5.
Instantaneous speed

6.
Velocity describes speed and direction

7.
No, may be changing direction at constant speed.

8.
Accelerator and brakes; steering wheel

9.
Acceleration

10.
Rate at which velocity changes

11.
Zero, since there is no change in velocity

12.
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13.
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14.
Once for speed change, again for time change

15.
Fall is free of air drag and forces other than gravity

16.
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17.
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18.
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19.
125 m;  180m

20.
5 m

21
5m ( its average speed would be 
[image: image13.wmf]sec

m

5


22.
speed

23.
Acceleration

24.
Decreases

25.
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Plug and Chug – 26

1.
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2.
a.  
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4.
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7.
180 m

3.
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8.a. 
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Think and Explain

1.
Direction can change at constant speed, constant velocity defines zero acceleration

2.
Zero

3.
Both have equal acceleration

4.
a. 
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5.
Distance reading would increase with time.

6.
a. 
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7.
instantaneous velocity = 
[image: image26.wmf]sec

m

10



average velocity = 
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8.
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,   g,   velocity and acceleration are not the same

Think and Solve – 27

1.
100 centuries

2.
a.  
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,   b. 45 m

3.
0.77 sec

4.
1.25 m
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